0000 100 00 (O 40)

gg oooos

19970 50 120

00 [244)3.0,0000000000 f/(t)=(A+B+[A,BJt)f(t) O
000O00.00000.

[4-1] 000000000

000000 (0)=«(L) 00000 100000000000.
1. 000000 p=—ik(d/de) 0000000

dn(z) = L™Y2 exp(2nmiz /L) (neZ)

O000000.000 p,0000. 000 {¢,}00000000
goobooag.

Hint. 000000000000,4600 §(z) 0000000000,

Sry(x)=L"" Z exp(2nmix).

ne7z

2. 0000000000 ¢(z) = (5L)Y%(exp(2miz) — 2i exp(—4miz))
00D0O0,00 (.¥) D0DO.

3. 00 (z)0 pOOOOO,
/ gt @pe(@), 3 [oalt) e

gboobooggoooo.
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4. 00000, Hamiltonian OO0 0000000000, ODOOOO
gboogbbogboobbodgb.ogbobodgboobbod.

[4-2] Hermitian operators

000 A,BO,0000000 ¢(z),¢(z)000,0

(1) (LIAlg) = (¢|B[¥)" (= (BY[¢))

000000,BO AQ Hemite 00000000, B=A'000.
A=A"000,A0 Hermite 000000000. A=-AT000, A
0O Hermite 00 0000000. 0000000 1.900.

1. 000 ADO (00000O)eeCOOOO, (eA) =a*Al OO
oooooo.

2. AD Hermite 000,¢ 000 [000]000, adA O Hermite [0
Hermite) 00000000000,

3. A,BO Hermite 000000, {A, B} := AB+ BA 0O Hermite
00.[ABl:=AB—-BADODO Hermite 10 000000000.
000000 A BOODOO (AB)Y =BAT0000000OOO
ooo.

4. 000 z,p = —ih(d/dx), H = p*/2m O hermitian 00 0 00O
gg.

Hint. 010000000000000000 ¢(z)0,000000 |z —
o0 ¢(z)— 0000000,

5. 0000000000 (A=A, (AB) =B'AT0O00.

[4-3] Hermite 0000000, 0000
1. Hermite 000 AOODODOOOOOOOOOODOO.

Hint. 000 ADOOOO |¢) 0000: Alg) =al¢). 000 a =
(¢|Al¢) 0 ¢ DDDDDDODODOOOOO.

2.0 Hermite OO O0OO0OO0OOOO0ODOO0ODOOODOO.



3. Hermite 000 AD,000000000O0O0OCO0OO0DOOOO
gbooboooo.

Hint. 2000000 ¢1,¢2DDDDA|gb1):a1|¢1),A|¢2>:a2|¢2),a17é
a. 0000 (¢1]A|¢) 00000000, AD (¢, 000000
0000, ¢y 000000000,

Ooon

1) 00,00,00 000000,0000000 /00 3(1991) 0
ooo.

[2] L. I. Schiff, Quantum Mechanics, 3rd edition, McGraw-Hill (1968).

[3] J. J. Sakurai, Modern Quantum Mechanics, Benjamin (1985)



